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Review Notes - Solving Quadratic Equations

ax’ +bx+c=0
What does solve mean?
¢ FIND ALL VALUES THAT MAKE THE SENTENCE TRUE!

% How many solutions do we expect?
D-esr~<<: Q — U[’ \lo & SoLcL:m_S

Methods for Solving Quadratic Equations:

Solving by using Square Roots

Solving by Factoring using the Zero Product Property
Solving by Quadratic Formula

Solving Quadratic Equations Using Square Roots - Part 1

Definition: If b is a square root of a, then > = g

. : 2 _
Example: 4 is a square root of 16 since 4" =16 .
What are the square roots of 16?
Another way to ask the same question is

"What number squared is 167"

(4) =16 and (-4) =16

There are two answers to this questionl!!

16 has two square roots, 4 and -4. 4 is called the
positive square root and -4 is the negative square root.
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The Radical Symbol: v  3)g
[The Radical symbol is a grouping symbol.]

\/5 "The positive square root of 9."

—\/5 "The negative square root of 9."

i\/§ "The positive and negative square roots of 9."

Every positive number has two(2) square roots.

Every negative number has zero(0) square roots.

Zero has one(1) square root.

Simplify each expression.

Ex1: /25 Ex 2: _\/6_4 Ex3: 34/49
5/ @ 3(7)
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Ex 4: —\/@A—JE

-6+ 4
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Ex 6: —3i2\/§
S2322(3)
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Ex 5: 6i\/ﬁ
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Ex 7: _li\/_




Geometry 1.0 Algebra Review Notes - Solving Quadratic Equations Part | - Key
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Solving Quadratic Equations Using Square Roots - Part 2

Simplest Radical Form - SRF

An expression is in Simplest Radical Form
if it meets the following conditions.

1. No radicands have perfect square factors
other than one. [inside the radical symbol]

2. No radicands contain fractions. \BE /

3. No radicals in the denominator. Jroo
A 2
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We use the following properties to simplify radicals.

1. Product Property

Jab = Ja .30

2. Quotient Property
a Ja

PR
3. Multiplicative Identity
a % al

% & Jp b

Write each expression in SRF and
approximate to the nearest hundredth.

Ex 1: \/% Ex 2: \/7_2 Ex 3: —/300
Al | Sl | Teos

BE | fer] |[Fo5s]
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Ex 4: 1_2 Ex 5: @ Ex 6: i
25 49 3
i Y4 Jis D
las” J44 B
Y4 J3 N}
5 J3 U3
QI3
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IE
ey
Ex 7: % EXS:JE-\/g Ex9:m-\/g
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Ex 10: (3\/ﬁ )2

<3ﬂ|)/?ﬂl>'
1Jal
(1)

Ex 11:

4+40

2

4+ J490is

b

443Jio

.

L

—6++/27

Ex 12:

3
-(*J3 2
3
_6t3)>2
>
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Solving Quadratic Equations Using Square Roots - Part 3

2
0=ax" +bx+ ¢ canbe solved using square roots if b = 0.

This means. 0 = ax” + ¢ <

What does solve mean?
¢ FIND ALL VALUES THAT MAKE THE SENTENCE TRUE!

¥% How many solutions do we expect?

DU}“'C@— s A ;) 53\“‘LTMS
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[E

\Jrﬂ

Solving Quadratic Equations Using Square Roots
2
0=ax" +bx+ ¢ can be solved using square roots if b = 0.

This means 0= ax” +c.
Write solutions in SRF. [ Isolate X’ ]
Ex 1: x2—4:() Ex 2: x2—64:0

rxlz L‘l /Xl: é L/

9( :iﬁ M:iﬁ
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ex3: x> —16=20
2
o - 36

q(zij?—é

Ex4: x° +9 =159
/XD\: gO
x=1Ys0

,X:J'I.;S;\H

{/X:;PSJE /

Ex5 x° +19=10

o
()(::K_)/‘Cf >(
Nd V)o\k ™

e 3% —8=13
’5,[*:3(
')(1: 7+

Ex8: —15+3x* =5

?,Yl:QO
> 20
- 3

20
x=*J)3

I =
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Simplify each radical expression. Circle your final answer.

1. /80 125 3. +4/120
\Yl—(ajg—‘ SQ—S‘S; i’le J30

Simplify each radical expression.
Circle your final answer.
5 7 6. Solve and write
4 A= S your solution in SRF.
V4 27 4x* =15 =60
S Ja 4.2= 75
T AERE - 72
ENERE TS X="J7
E IX: i_,JB/,ZE
(3D J7
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